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General Instructions :
(i)  The question paper comprises two Sections, A and B. You are
to attempt both the sections.

(ii) All questions are compulsory.

(iii) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are
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(v)  Question numbers 1 to 3 in Section A are one mark
questions. These are to be answered in one word or in one
sentence.

(vi) Question numbers 4 to 6 in Section A are two marks
questions. These are to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three marks
questions. These are to be answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five marks
questions. These are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a one
mark question. You are to select only one most appropriate
response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two marks
questions based on practical skills. These are to be answered

in brief.
W — 37
SECTION - A
1. 39 9O A0ft & U8 € &l ol 9 fARgu fSHen Yt
g -OH 7 | 1

Write the name of the first two member of homologous series
having functional group —OH.

2. wiHISIH H S i fafy w1 9w faRew | 97 fofy <iffes g sten
FeAfireh ? 1
Name the method by which Plasmodium reproduces. Is this
method sexual or asexual ?

3. oA R had & 7 1

What is an ecosystem ?
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4. g fam 10 om wiE gl & fopel s1aaet 0w o @@ 8 cm gt W
a2 | gduT gr s wiicifera < whis =R stfirerarer fafaw | 2

An object is placed at a distance of 8 cm in front of a concave
mirror of focal length 10 cm. Write any four characteristics of
the image formed.

5. SIS ee 58 had € 7 I8 F1 AEITh & 7 2

What is sustainable management ? Why is it necessary ?

6. Tordt TH Tertur <l IeTetur Aigd st shifve fS&d i A <6t
GishT Vet T -1 oh1 Ta-8 3712k 3101 8l 79 | 2

Explain giving example of a case where active participation of
the local people lead to better management of the forests.

7. < hrad AMfieRl A 3B % 30 T AT C4H, o 3 C3Hg 8 | 30
T Torgeh! Gehar 3TRTTshaT €T <t GYTeHT 3Afeh & TR I 7 Hehod
arfirfspan =61 guriy & fore 18 Tt aefieor fafia | 3w srffspan
T 3TN HET hAT A B 7 3

Two carbon compounds A and B have the molecular formula
C4H;p and C3Hg. Which of the two 1s most likely to show

addition reaction and why ? Write a chemical equation to show
an addition reaction. Where is this reaction used ?

8. I3 HEA Alfi ‘A’ (C,H0) 3= K,Cr,y04 % @1 Affshan
Hieh DIg T MM ‘B’ SHM@T & | ‘B’ § WIfSAH T Ihsl SoH W
s g X’ feherdt 2, S 9T W@ H A FAd 2 | A°, ‘B’ 3R
‘X’ Wl gAY 3R g arelt rfrfspanatt & amate aieor o
fofe | 3
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An organic compound ‘A’ (C,H¢O) on reacting with acidified
K,Cry,O5 forms another compound ‘B’. On adding a piece of

sodium to ‘B’ a gas ‘X’ evolves which burns with a pop sound.
Identify ‘A’, ‘B’ and ‘X’ and also write the chemical equations
for the reactions involved.

0. T ol IFfiehd T ToRaT TRAT & 7 IMMY(h 3Tad TRV § qwdll b
FiffRtor | forE ga Ui 1 ST fRAT T R 7 39 UTEH W
3T o1 AT TR 3T Jeoi@ HITT | 38 ATad IRl § Fgi

3R 3Tl <hl gt fafay | 3

Why are elements classified ? Which fundamental property of
elements is used in the classification of elements in the modern
periodic table ? Name and state the law based on this property.
Write the number of groups and periods in this periodic table.

10. IS IT (TCHTY] T 11) 9 i ufefa o Siotet I3 TS
AT |
(a) 3 T I YEHTHT 3T 30T sorare 1+ o= fetfam |
(b) 3ME(eh 3ATad AR H 3Eh! 3TTed T 3R THg HEIT 1Y 7
(c) 39 RS & A B o W §94 91t Affeh 1 919 3R I3
fofe | 3

An element (atomic number 11) burns in the presence of air to
form an oxide.

(a) Identify the element and write its electronic configuration.

(b) What is the group number and period number of this
element ?

(c) Write the name and the formula of the compound formed
when this oxide dissolves in water.
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11. ATOT 91 B 7 39k G WK ok st faverert foredl <1 e farmgat
! qTfcTeht o €9 H FAT AT | 3

What is pollination ? List in tabular form any two
distinguishing main points between its two types.

12. <ifieh S & TR Y@ =N 61 ShHTR 3eoi@ hig 3TN 39 TR &
9 o @ oY TeIRgT | 3

State in sequence four main steps of sexual reproduction and
write two advantages of such reproductions.

13. godft 19 o = feu T Teies S 9T %1 SRl fefa
(i) wfteher
(i) IhE 3
Write the functions of each of the following parts in flowering
plants :

(i) Pistil

(i1) Stamen

14. T 3 TANT g0 I8 fohe YehR oIt foh @1eror Toad &9 © 9T
BT ? 3

How do Mendel’s experiments show that the traits are inherited
independently ?

15. FHSITA 37 3R 9HEY (FAgR) 3T 18 7 I8 fh8 TR S foaehm
b 987 T JHTOT A Ld & 7 3

What are homologous and analogous organs ? How do they
provide evidences in favour of evolution ?

31(B) 6



16. aTEdfereh 3T 9T gt o = faveq hifse | foreft steae edu
SR s Hfcfers o ¢ Stfverern forfau srafss 18 foms 39 g o e
SHch Tshdl o 3T Bihd o S fRIG 3 | 3

Distinguish between a real and a virtual image. Write two
characteristics of the image formed by a concave mirror when
an object 1s placed in front of the mirror between its centre of
curvature and focus.

17. Torsft BT 1 3101 SIS 1 FNTYA S o 7T — 0.5 D SHAT o oid hi
STIIIHAT & |
(i) 35 o= fr e g @ fifed g 7 39 S < g1 HRUT faRa |

(i) EMferd s ot o shl Tehfd TR Blshe gU TR 7 3
A student needs a lens of power — 0.5 D. for correcting his
vision.

(1) Name the defect of vision he is suffering from. Write two
causes of this defect.
(1) What is the nature and focal length of the correcting lens ?

18. $® S= UTeh T ot URIST I Th B H Teha hich 38 JAAMT a8
& | FelloT < 375 TRl TR IH ST ol 1 H Sfiehd hich U1k H @I
B 3R ier T1 6t peT-ufedi # g1 b foTu e |
(i) TITTEI <l &1 ST § I i 1 HHEUS fIRaT |
(ii) STITTSI 1 I HTH o TATSRT < GIE & ¢ AW fARaT |
(iii) SO GRT efia &t Yo feaRaw | 3
Some children wanted to collect the waste scattered in the park
and burn it at the corner. Praveen checked them, and asked
them to classify the waste in two categories and dispose
separately in the green and blue dust bins placed in the park.

(1) Write the criteria of separating the waste in two categories.
(1) Write two advantages of segregating the waste from the

environmental point of view.
(111) Write two values exhibited by Praveen.
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19. (a) SHE™E F18 ? & (C4H| ) o & THEFE! h T fIRaT |
(b) 3T ANTHAT o TR T 19 TR TEHH FHitenor ferfay s md
TIATA | 5% &R KMnO 4 T <l Teh—Teh Shieh ¢ Sot T
Bl 2 |
(c) 443K A W TSHTA i AU A5 H,SO, o |1 TH Hid T
S ITel 3cdTG 3l A fIRaT 3R 38 HAfishan § &g H,SO,4 i
YfHehT 3T Soord Wi HITT | 5

(a) What are isomers ? Write the structures of two isomers of
butane (C4H10).

(b) Write the name and chemical equation for the reaction that
takes place when 5% solution of alkaline KMnOy is added

drop by drop to warm ethanol.

(c) Name the product formed when ethanol is heated at 443K
with excess conc. H,SO,4 and state the role of conc. HySOy4

1n the reaction.

20. (a) A AT S aF & == feu mu wmn & ot fefe
() IFEHE
(i) T
(iii) 3TueaTfaeRt
(b) = o SR # YO1 ! WU fohE TehR TTH BT B ? e F wviA
SHifT | 5

(a) Write the functions of the following parts in human female
reproductive system :
(1) Ovary
(i1) Uterus
(i11) Oviduct

(b) How does the embryo get its nourishment inside the
mother’s body ? Describe in brief.
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21. (a) HHE HTET AT A T H TR % ol foha WIS Bid & 7 T
h(uT T Tt o SIT shl H&AT 37 3T TR feTfE |
(b) Ui 3R TS Aeon & s faves i | 77 3
Jfia 3gwet &t a3t i <t ST i el S Hehd 2
ST hIT | 5

(a) What is the total number of chromosomes in a human male

and a human female ? Write the type and number of sex
chromosomes in each case.

(b) Distinguish between acquired traits and inherited traits.
Why cannot we pass on our acquired experiences to our
progeny ? Explain.

22. (a) Tt BT 16 cmmaﬁ%?ﬁﬂﬁ'&wmm% cm
gt W fRrd 2 em = HIHSRI shi STl 1 g T HIshHd
foram 2 | < g7 1 TN Bk o § UE T gft 3R 38 W
icfers hl TS IiEhieTd shita |
(b) Ffe Sorer i & ¥ gl 32 cm W & SMC, a1 Yidfers o F |
fopcft gt TR ST 3T SEhT WIS AT BT 7 3 I o9&l |
SHRU ST | 5

(a) A student has focused on the screen the image of a 2 cm
high candle flame placed at a distance of 24 cm from a

convex lens of focal length 16 cm. Use lens formula to
calculate the distance of the screen from the lens and length
of the image formed.

(b) If the distance between the lens and the flame is increased
to 32 cm, where would the image be formed and what
would be its size ? Give reason to support your answer.
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23. Tef gduTt gRT Wadd o fofe =ft e fag afurdt & #i5 9r 7=
forg forfiaw | 5w uftordt < s1gm afe foreht micfiar gdor i ashar foeen
30 cm @, T 39 U 1 AT HR Hishd Gl [ARaT |

s T/ 20 cm HIhH Gl < 3Faac 40T § 30 cm G T T@T 8 | 90
g forefl u¢ ol fepal gt ot T T foh 38 W farst sh1 wqw wfdferst wre
2l ? 5

Write any four main points of the New Cartesian sign
convention for reflection by spherical mirrors. If according of
this convention, the radius of curvature of a spherical mirror is
30 cm, write the name and focal length of the mirror.

An object is placed at a distance of 30 cm from a concave
mirror of focal length 20 cm. At what distance from the mirror
should a screen be placed in order to obtain a sharp image of
the object on it.

24. (a) fagem o 6t aftary fafge | @ % 59 @ 9@ W o4
TSl % =T ateee Seen & wq d foia =i B S 8 7 39
T I Tohd TR I (o3l ST Hehdll & ?
(b) U FT R 7 ATV A TZEIY T YT Hd I g1 EvTHh
I[ql 1 IeeT@ hIT | 5
(a) Define angle of deviation. Why do different components of

white light split up into spectrum when it passes through a
glass prism ? How can this spectrum be recombine ?

(b) What 1s a rainbow ? State two essential conditions for the
observation of rainbow in the sky.
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25.

26.

Wi -9
SECTION-B
wElifeeh 311 & o fereram = fowar & gt svem g -
(a) Y W S o § fae
(b) Ty fateh St St | foer
(c) 7Y HR At ; I H ATl
(d) T4 TeTs S o | e 1

Select the correct statement about dilute solution of acetic acid :
(a) smells like onion ; soluble in water

(b) smells like vinegar ; soluble in water

(c) smells like orange ; insoluble in water

(d) smells like rose, insoluble in water

Ife 319 aq TEHifH 3 6l T §g Ut et fofemd & oo 3
Tt Tt fotem® o foretam o et a1 9 afgds e ?

(a) et O 18 ufterd &1 ; ATe et 81 Jran 2 |

(b) et ATt B ST B; e | ohis Uieda @l |
(c) et TIEH B J1aT 8; AT el 8 e B |

(d) et T I3 giedH TET; e ° 1E uiEdd T&@ | 1

What change would you observe if you put a drop of dilute
acetic acid first to blue litmus solution and then to red litmus
solution ?

(a) No change in blue ; Red turns blue

(b) Blue turns red ; No change in red

(c) Blue becomes colourless ; Red turns blue
(d) No change in blue ; No change in red
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27. = feu waun % THg ® ¥ 30 gHU e T e Y 9o |
AR 38 HIR §HT Fehdll & :
(a) TITSIH FARTSS; hicHIH FANTS
(b) TifeTm FARIES; TRH FANTSS
(c) hicom Ferss; AW wIEs
(d) Hefifirm sTse; weftem FEe

Select a group from the following groups of salt, each salt of

which on dissolving in distilled water can make it hard :
(a) Sodium chloride ; Calcium chloride

(b) Sodium chloride ; Potassium chloride

(c) Calcium chloride ; Magnesium chloride

(d) Magnesium chloride ; Potassium chloride

o

28. THIRad § | GuSTd 371 %1 9= T :
(a) Tgeh, y&ft 37 fouehelt & 3mmUTe
(b) U&ft o T@ 3R TCS & T
(c) feaeht & v 3K vaft & v
(d) HFH % heeh IR AFATITRAT % Heh

Select a set of homologous organs from the following :

(a) Forelimb of frog, bird and lizard
(b) Wings of birds and wings of bats
(c) Wings of bats and wings of butterflies

(d) Spines of cactus and thorns of Bougainvillea

31(B) 12



29. = % YU 1 AL H Fadl T & A= fou 8 =70 | =R
FITTT 37 3TenT Tl 3hH gHT -
. 3 Stot o1 R sfisti ot it shue & @fehu 37K 38 ws fem
e U & T e i |
I1. s =l art ot # frTise 3R 1a 9t i i |
II1. it <fist =t ShTeeht Wi 37 36eh iy i <61 Jeqor ShifSu |
IV. difew 4 38 Wy e i |
(a) I, 1L, 10, IV
(b) IV, I, II, I
©) IV, 1L 1,11
) IV, 1L I, I 1

Consider some steps given below about the experiment on
studying an embryo of a gram seed and select the correct

sequence :

I. Drain the excess water, cover the seeds with a wet cloth

and leave them as it is for a day.
II. Soak the seeds in plain water and keep them overnight.
III. Cut open the soaked seed and observe its different parts.
IV. Take some healthy seeds in a petridish.
(a) IL L I, IV
(b) IV, L 11, I
(c) IV, L I, 11
(d) IV, IL I, 11
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30. foreft B w1 forelt TeT 7T (i) 3Terdet gUoT; (ii) 3T ¥ hi Bihd gl
fopelt et Fomet 1 8 T BT 0 T HE B | Jew B W I
g e fo wef foray <61 & foan & fq dran 2
(a) QT JeRtuTl |
(b) <1 TRt | forelt 7 oft 7
(c) TRTUT (i) | JoRTUT (ii) | &
(d) TR (ii) § ThLOT (i) | 7T&i 1
A student has to determine the focal length of a given
(1) concave mirror ; (i1) convex lens by focusing the image of a

distant object on a screen. He would observe that the screen is
placed on the same side as the object :

(a) in both cases

(b) in neither of the two cases
(c) in case (i) and not in case (i1)
(d) in case (i1) and not in case (1)

31. et B 1 feU 7Y 3T oi| i wikE gl forel qrey famr =1
BIeh d hich T AT & | 39 TN hi hid o foTU 3T =1i3U —
(a) 3T o 3R el
(b) 3T @, oIF Blest 3T Ul
(c) ¥ Blegt 3R JumT
(d) 3T <id, Ui, G o foT gleet 3R a9 1

A student has to determine the focal length of a given convex
lens by focusing a distant object on a screen, for this
experiment he should have

(a) convex lens and screen

(b) convex lens, lens holder and screen
(c) lens holder and scale
(d) convex lens, screen, holders for both and scale

31(B) 14



32. freft B 7 faft=r a1uaa i & ot =i & w9 § oA 9Tl
TehTe TeRtuTt T 92 STRRET KT fotam g | J&0Tl o SR W 39T I8
TRy g1 =faT fh
(a) SATIGH SHIVT YT <HIVT H BIT U= 7T 10T o S 7 |
(b) 3T <HIVT 7Y 10T | TSI T T <hIvT o SR B |
(c) 3ATIA hIvT 3T IV & SIST U] STIEIH <hIvT o TR 2 |
(d) 3TIAA SIvT T IV T BT T AT hIVT o T 8 | 1

A student has traced the path of light rays for different angles of

incidence. On the basis of observation he must conclude that

(a) angle of incidence is smaller than the angle of refraction
but is equal to the angle of emergence.

(b) angle of incidence is greater than the angle of refraction but
is equal to the angle of emergence.

(c) angle of incidence is greater than the angle of emergence
but equal to the angle of refraction.

(d) angle of incidence is smaller than the angle of emergence
but equal to the angle of refraction.

33. g o fI5H ¥ TSR aTeit JehreT Tohtol T 91 TRRE Hid a0 Hi5
BIER R IIAE RN SRR CIT R I CAN KA R LW K C IR o IR
(a) T UG T I TR <hl 3R FehelT & |
(b) T UG § I IR A R IhaT 2 |
(c) UBW TS H HTER hl 3T 3TN GER H SR J T gehaT 3 |
(d) U8 TS H IR 8 W NG H MR HI AR gharz | 1

While tracing the path of a ray of light passing through a glass

prism a student would find that while passing through the prism

the ray suffers two refractions and in

(a) every refraction it bends towards the base

(b) every refraction it bends away from the base

(c) first refraction it bends towards the base and in the second
away from the base

(d) first refraction it bends away from the base and in the
second towards the base
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34, TANEIAT § HEH S0 G0 39 &1 GOl 3TN W A 8 7
srtfsran—fasor 6 yepla (3ria/ &) w1 gdeon 3 fre TR
w1 7 2
What material do you use to prepare soap in the laboratory ?

How would you test the nature (Acidic / Basic) of the reaction
mixture ?

35. 39 T 1 YR faalgu foaw wene g 9 1 gdfd 9™ gidl @ 31
SHeh <1 JfEdca GHTE I ST & | 39 S UishaT o 999 3R 3AfaH
TOT T G&T T IeoTd <hITY | 2

Name the type of reproduction in which two individuals are
formed from a single parent and the identity of the parent is
lost. Write in brief about the first and the final stage of the
process of this reproduction.

36. Torel BT = I oIF T ITANT Hieh HHSI ohi SITCT T T3 H §gd
BT i 4¢ W ITH {71 2 | 9¢ 319 98 oiF o TR W@t
HiHei ol FR-R, T H, <" shi 3T 1T al g a1
(1) w¢ W o ¥ oy vfafers ym & % fow 38 o€ =1 fopm 31

T BT ?
(i) wfefers = @res # =1 Uftadd g qen Ufdfera <ht disrar e
31T St ? 2
Using a convex lens a student has focused a very small sized
image of a candle flame on a screen. If keeping the position of
the lens fixed he gradually, in steps, shift the candle towards the
lens, then every time
(1) 1in which direction he will have to move the screen in order
to have distinct image on it ?

(i) How would the size of the image change ? Will the
intensity of the image increase or decrease ?

31(B) 16



